e

Name: )
Alg TI - day 8 — 2005 ]
Solve:
x*+6x+8<0 x*—4x+4>0 x*-5x+2<0
24\ 5~ 1 - (=
ey L al resls - 5 \17 y 02X
- - P 75 0 o y 5 m— i\ . m"‘
o 2 | RFCEDr X=2 2 2
Find the determinant:
3 2 3 -4\ 6
(4 SJ 7 (1 ~3]
! 1 3 2

Evaluate Fxactly:

=14

Il

8:32::’2%‘ : 16

Solve (to the nearest hundredth):

3* =13 2" =727
1.,% 49
621 =50 772 =10




‘Solve for x (exactly):

log, x=2 AO\
47 =64 4

log,32=x |
&
“1Z
log,16=x _ ]},
s i!{"’f:?

1ogl 000 = x

log 16=4
2
log,B3x+1)=2

12,

log,8=3x+4

,\,%

log x +log(x+3) =log 54 W

Write as a single logarithm:

log7 +1log4 = \0532%

3.2
b\ 31nx+21ny 5lnx =
“ A
X® = v~ 7%(
210g3+310g2-‘
%mg ]2

fl

ERT G

log20-log3= o

i W

J

Ziogss= | 'gl“
3 J 0

2log3— 210g5 =

| b?/”*@

\,/

Find the sum & product of the roots:

3x? ~5x43=0
325/,

=2z

Write the quadratic equations with roots of:

{43}
(JyB-x-1=0

Simplify:

P L

{7442, ____}

2_)y+u7=0

= QWb

3+74)

{5-4i

G+)3-1)

{Eo

log 81=4

3

longO \

log, 64 =

(SRR

o\%

log,3x =3

Q42

4log3 = !Og %)2 |

Slnx-2lny-6lnx=

Qa’%

N ;}52

lIog 27=

¥ -6x+20=0 Q= (o P-20

S

210 x +4\=0

1O



Solve:

2x* ~3x+7=0 — 6x” +5x+1=0 K 3x* ~8x+50=2x(x-3)
) Bw o2 -l T
)(w 4 )(" 2 3 X”"‘ la—"7l&

List the PRR, number of +/- real roots. oraph & solve:

¥ +xt-13x —13x* +36x+36=0 o - L -

Divide by long or synthetic division:

x+2)dx* =50 +11x =7 %ﬁl
AyB- (2P Jox -4 ] Z?d PR -y ”::2
Selve:
x*+6x+920 6x* +8x+3<0 x> +7x+1>0
a\ Yous No Sob. ., 7S 3(6 o

7+ 2;\,//

X7







Name:

Alg I - day 9

A. Find the determinant:

1[32) 132A
4 s 7 2|25 -1| 4

0 6 2
B. Solve:
3. ¥*+6x+9>0 4. 6x* +8x+3<0 5 x*+7x+1>0
o\ veals No gution o B,
| x> -7t 55
| 2
C. Simplify: : '
6. 1 9 [2+5] (iﬁ
7. J—44 . 2 éﬁ?%ﬁg‘
AL{\ E
8. (3+i) ?%LO%
D. Find the sum & product of the roots:
11. 2x* +5x-7=0 12. x2+6x~8:0
-2 -7 | -C
s=2 P73 S=-t P=F

E. Write the quadratic equations with roots of:

13. {3-J5, 1} 14. {5-2i, }
y2-bx+=0 \vZ_10x +24=0




F. Solve (to the nearest hundredth):

15. 13 =5 16. 777 =12
0% ¥=U.2%
G. Evaluate (by hand):
17. log 125=3 18. log, x=4 19. log,49=x
X=2 Y=\l X =
H. Write as a single logarithm:
20. log20—-logl0= \O(.:}‘Z 22, 2log7= ‘%qq
21. log6+log7= Y 23 llog79= ‘O‘" %
' \i):iquz 2 Yq

‘1. Solve for x & v using Cramer’s Rule:
- 3x+2y=8 ) D: ..«‘q

( ‘ v My = =19

J. List the PRR, number of +/- real roots, & solve:

25 x*—7x*+14x—8=0

= \)Q‘UQ



Name;

Alg I - day 10

A. Solve:

I x’+2x-8<0 | 2. X +6x+1=0
eyl Y= -3+2(2
3. |x+3[>3 4, 3(x+2)+2=10'
Xe —(p OV X220 X= /5

5 2X° -x*-13x-6=0

X="5,-2,3

6. x*+2x+9=0 ~ 7. x2+10x+25%0
X=-1+20{z No Sal.
B. Simplify: ‘
8. i - 9. B+i)(4-2i .
i L B+i) i) '4-.2‘/
7 ‘
10. +/-28 , 11, — - ]
ZL\F} e b j‘“
» o
C. Write the guadr. ticé uations with roots of:
12. { 7+2i, } 13. {2+47, 3}
X2 l4x +53 =0 yA-dy-3=0

D, Find the determinant:

)

w O W

4
3 4
14. | ' 15. |7 2




E. Solve for x & y using Cramer’s Rule:

2x+5y=9
S Sx-2y=7
53 21
24 ) 24
F. Find the sum & product of the roots:
17. 2x* +6x-1=0 18. x*—7x+2=0
$=-3 P="U S=7 - P=2
G. Solve (to the nearest hundredth):
19. 3* =13 20. 4*7 =64 21. 2% =27
253 4 4,75
22. log, x=2 23. log1000 =x 24. log 81=4

AQ 3 3

H. Write as a single logarithm:

25. 2log3+3log2= 26. 2log3-2logs5= 27, %—10g27:

\99 72 !0% %@ lo§ %



Alg T —day 11

Solve:
6X° +17x* ~5x~6=0

3 2 -L
X="5,%, =2
5(x-D+2x=20

‘2;"9/_,

15-Zx>-5

X420

x*-3x>10

X€-2 ov Xz 5

lx+2)<7

Gy ts

Simplify:

-47132 l

4+i] m

~1 ¥

2—i

Name:

X +9x? +26x+24=0

X-:: *"”'2-;""% ) —q

2x* +3x+8=0 _
-3+ (&5
H .

x*~10x+2520

a\l real ¥s

2x*+7x+3<0

-l




Write the guadratic equations with roots of:

ot 03] b5

P

72 L ”:];",,U ..
Y e’g\ﬁ{"'i g)(g 6\!,3@« O

Find the determinant:

By hand: On calc:
_ 1 4 2 -4 1 5
( J 30 5| 4 3 2 o] OU
7 -2
1 & 2 -1 -1 =5
—-13
Solve for x & y using Cramer’s Rule (or RREF on cale):
3x+2y=17
By hand:
y han Sx—y=4 '6 , @)
%!
{ 2x+4y+z=0
: — [
n calc Sx—2y =7 249 24, x—y+2z )
x+6y-3z=7
Find the sum & product of the roots:
2x* +5x—7=0 x*+6x-8=0 _
an % T o 0--€
G - | ’;2“ E% el iz—v . - - ' -
' Solve (to the nearest hundredth): 5 =13 8" =213

\-e%q 2'63



Solve (by hand):
: 6" =216

)(‘:,2

log,1=x

)(::O

Write as a single logarithm:

2log3+3log5=

“ﬂ 2%

3log2-log9=

o9y &

log,32=5

)(12

4
log 81=—
o 3

X =27

1
—logl6 =
4 210

\0g 2

Change to standard form, find the center & radius, and graph:

x> +y* ~6x+4y+12=0

(X-2)% lyr2)*= |

C- (%; -2)
Yo \

x*+y* +10x-2y-10=0

(Xt 5Y +{y-1)*;

C=(-5V)
Y= o







Name:

Alg I1 - day 12
Solve:
8+2(x—5)=14 | 3(2x+1)=6x-7
X =8 No Sole
¥ —6x+10=0 5x* —4x =33 |
' el
3L X=25, =
¥’ +8x +11x-20=0 2x—5|=7
Y= h-4, . x=0,-1
lx+3j<6 3-2x>11
—9exen Xe-Y ov x>7
2x* +9x+420 X' +6x+9<0
xe =t or XY= No Sol
Simplify: |
=L VI 3UZ a+si (19
G)(T-1) pati 7+
22+ 25
Write the guadratic equations with roots of:
52, - 1 {9,9} {7+\/§,__~}

X%~ 10% +29=0 Yz“’g“_‘t?!:‘@ X2y +o=0

Find the determinant: |




o

N
- b
N A
.
RO
—_ = W2
HODN

Solve for x & y using Cramer’s Rule (or RREF on cale):

543y =8 (wz b

By hand: .
y an Tx—4y =10 V) 4l
B x+2y—3z=11 '
On calc: Sl 2x+y-2z=9 (5?}5)")
x-—y:—z :
\} 4x+3y+z=16
-7
i’thij é:’,ﬂ

577 =49

=¥
2.5% 47

Solve (to the nearest hundredth):

Solve (by hand);
1

log, x = 3 _57 log, 64=3 X:"q 1og6~g:x Y= -
1log0.001=x 274 = 5 log, % =x Y= ﬁ‘?&
X= -2 -5
Write as a single logarithm: ,
2log3+3log2= 5log2—-2log5S = 2log4 =
100 72 32 e
v | 09 4 0o 10
Ellipse: ; J
x? yz (= {iii»,w‘} y
— = %
16 25 Ey =

Find the center & radius, and graph

# #

(s 4 (-3 =16 (7

*+y*+2x+4y—-4=0

ﬁ;‘“‘z«z"?"!u*7; {:?

N WD
& "
V=

- ‘:i}




